QCM DE CULTURE GENERALE

(Questions numeérotées de 1 a 40)

01 — Il est exact qu’en avril 2022, Viktor Orban a été reconduit dans ses fonctions de Premier ministre de la
3)) Hongrie
B) Pologne
C) Croatie

02 — La société paramilitaire privée basée en Russie et active en Ukraine se nomme groupe
@ Wagner
B) Schumann
C) Brahms

03- 11 est exact que I’acronyme GAFAM désigne
A) un mouvement politique ukrainien pro-russe
B) les quatre banques mondiales ayant réalisé les plus gros profits en 2022
©) les cing entreprises américaines du secteur de la technologie les plus populaires et cotées en
bourse

04 — Concernant les élections législatives qui se sont déroulées, en France, en juin 2022, il est exact que la
coalition pour la majorité présidentielle se nommait

A) horizons

B) ensemble

C) reconquéte

05 — Outre I’Ukraine, est également un pays candidat a ’entrée dans I’Union européenne, la ~ /
@ Moldavie )<
B) Biélorussie

@ Lettonie

06 — En juillet 2022, a été tué par balles alors qu’il prononcait un discours le Premier ministre
A) de la Corée du sud
(B) du Japon
C) de la Chine

07 — L’Union européenne récompense les actions en faveur des droits de ’homme en décernant le prix
A) Albert Londres
B) Pulitzer X
£) Sakharov

08 — Le dernier président de ’URSS, décédé en aoiit 2022, est
A) Boris Eltsine
B) Dimitri Medvedev
C) Mikhail Gorbatchev

09 — Durant I’été 2022, Salman Rushdie a été agressé a ’occasion d’une conférence aux Etats-Unis. Cet
écrivain est mondialement connu comme Pauteur

A) de « Fatwa pour toujours » >(
@) des « Versets sataniques »
C) de « I’Iran, mon pays »

10 — A I’été 2022, I’Agence Internationale de ’Energie Atomique s’est rendue en Ukraine afin de contrdler
les conditions de sécurité de la centrale nucléaire de

A) Kharkiv

B) Marioupol X

9 Zaporijia




11 — Lors du décés d’Elisabeth II, le prince de Galles est devenu le roi
A) Charles 11
B) Charles III
C) Charles IV

12 — Au mois de septembre 2022, une femme a pris la succession de ’ancien Premier ministre britannique
Boris Johnson et a démissionné en octobre 2022. 11 s’agit de

A) Liz Truss

B) Theresa May

C) Priti Patel

13 — En début d’année 2022, la France s’est retirée du Mali en mettant un terme a ’opération
A) Aigle
B) Barkhane
C) Chammal

14 — A été élu président du Brésil le 30 octobre 2022
A) Jair Bolsonaro
B) Lula
C) Ciro Gomes

15 — La coupe du monde de football qui s’est déroulée en 2022 a été organisée
A) au Qatar
B) au Koweit
C) en Arabie Saoudite

16 — En France, il est exact qu’un député peut cumuler son mandat avec celui de
A) conseiller régional
B) sénateur
C) député européen

17 — Le Défenseur des droits est nommé pour un mandat de
A) 4 ans )(
B) 5 ans /
C) 6 ans

18 — Le droit de dissolution de I’Assemblée Nationale en France est une prérogative exclusive du
A) président du Sénat
B) Premier ministre
C) président de 1a République

19 — Le Conseil de I’Union européenne est composé des
A) présidents des Etats membres
B) ministres des Etats membres
C) Premiers ministres des Etats membres

20 — Parmi les traités européens, le plus récent est le traité de
A) Madrid
B) Rome
C) Lisbonne

21 - La juridiction francaise disposant des compétences pour juger les membres du gouvernement dans le
cadre de crimes et de délits commis dans P’exercice de leurs fonctions est la

A) Haute Cour

B) Cour Supréme

C) Cour de justice de la République




22 — 1l est exact que Particle 49-3 de la Constitution francaise permet
A) de dissoudre I’ Assemblée Nationale
B) de destituer le président de la République
C) I’adoption sans vote d’une loi

23 — En France, il est exact que le président de la République dispose de pouvoirs partagés nécessitant le
contreseing du

A) président de la Cour des Comptes

B) président de 1’ Assemblée Nationale

C) Premier ministre

24 — Les députés européens sont élus au suffrage universel direct pour une durée de
A) 3 ans
B) 4 ans
C) 5 ans

25 — En France, le choix des ministres est effectué par le président de la République sur proposition du
A) Premier ministre
B) Président de 1’ Assemblée Nationale
C) Président du Sénat

26 — Le drapeau tricolore francais tel que nous le connaissons aujourd’hui trouve son fondement dans
A) le Moyen Age
B) la Révolution frangaise
C) la premiere guerre mondiale

27 — Complétez le couplet de ’hymne national : « Nos fronts sous le joug se ploieraient / De vils despotes
deviendraient / Les...
A) chefs de nos maisonnées ! » X
B) maitres de nos destinées !»
Qtyrans de nos libertés ! »

28 — Concernant ’hymne national, il est exact qu’il a été
A) compos¢ a Marseille ><
(B) interdit sous 1’Empire
C) déclaré chant national le 14 juillet 1789

29 — A lorigine, La Marseillaise s’intitulait
A) Chant de guerre pour I’armée du Rhin
B) La chanson des révoltés
C) Chant des patriotes

30 — D’aprés la Constitution, il est exact que le triptyque « Liberté, Egalité, Fraternité » est
A) le principe de la République
B) la caution morale de la République
C) la devise de la République

31 — Napoléon Bonaparte est a ’origine
A) de I’institution, au 14 juillet, de la féte nationale
B) de la construction de la Tour Eiffel
C) du Code civil

32 — En France, 1a peine de mort a été abolie sous la présidence de
A) Valéry Giscard d’Estaing
B) Frangois Mitterrand
C) Jacques Chirac




33 — En 1936, les Francais ont acquis le droit aux congés payés grice a une coalition de partis de gauche
nommée Front

A) social-démocrate

B) populaire

C) communiste

34 — Durant la seconde guerre mondiale, en France, le plus grand centre d’internement et lieu de
déportation des juifs était situé
A) au Mont-Mouchet S
B) a Oradour-sur-Glane )(

C) a Drancy B

35 — Chaque année en France, la signature de I’armistice de la premiére guerre mondiale est célébrée le
A) 11 novembre
B) 1¥ mai
C) 8 mai

36 — En 1940, ’appel du 18 juin a été lancé par le général de Gaulle depuis
A) Paris
B) Londres
C) Berlin

37 — En 1974, 1a femme politique francaise porteuse de la loi sur ’interruption volontaire de grossesse était
A) Edith Cresson
B) Simone Veil
C) Arlette Laguiller

38 — Alors que la guerre a été déclarée le 3 septembre 1939, aucun combat majeur n’a lieu en Europe de
I’Ouest jusqu’en mai 1940. Cette période est appelée la

A) dréle de guerre

B) guerre froide

C) guerre pacifique

39 — Clovis 17, roi des francs appartenait a la dynastie des
A) carolingiens
B) mérovingiens
C) capétiens

40 — La révolution industrielle francaise s’est déroulée au début du
A) XVIII éme siecle
B) XIX éme siecle
C) XX eme siecle

FIN DU QUESTIONNAIRE DE CULTURE GENERALE




QCM POUR LES CANDIDATS AYANT CHOISI : ANGLAIS

(Questions numérotées de 41 a 80)

41. “What’s name?”
A) she

B) hers

C) her

42. “What time is it please?”
A) “Sorry, I’'m busy.”

B) “It’s five o’clock.”

C) “Yes, it’s five hours.”

43. “Where you live?” - “I live in Bordeaux.”
A) does

B) do

C)to do

44. The victim was discovered the train station.
A) up

B) near

C) to

45. “Please your passport.”
A) show me

B) give you

C) see us

46. I arrived in France
A) 5 days ago.

B) since 5 days.

C) there is 5 days.

47. “Can you describe the suspect?”

A) “He was tall and thin with a tattoo on his face.”
B) “He was a teenager around thirty years old.”
C) “He was wearing baskets and a football cap.”

48. You aren’t allowed to smoke the hospital.
A) inner

B) into

C) inside

49. A retired army captain was shot dead after a football match in Edinburgh park last weekend. Police said an Italian
man had been arrested at the airport on Sunday evening.

According to the text...

A) The victim was from Italy.

B) The victim was playing football.

C) The victim was killed by a gunman.

50. She didn’t notice the man as he walked quietly her.
A) behind

B) opposite

C) towards

51. He his airline ticket in Tunisia.
A) buyed

B) brought

C) bought

52. Foreign visitors always keep their passports with them.
A) must to

B) should

C) could have




53. “I’'m really sorry I’'m late.”
What is the most logical reply?
A) “It’s fine, don’t bother.”

B) “That’s OK, don’t worry.”
C) “It’s a shame, take a seat.”

54. The following statements were taken from a woman who was attacked.
1) A man suddenly appeared and pushed me.

2) I went to the restaurant with friends.

3) He took my bag and ran away.

4) I opened my car door.

5) After the meal, I returned to my car.

What is the most logical order of steps?

A)5-2-4-3-1

B)2-5-4-1-3

C)4-1-3-2-5

55. Jenny only works during the day. She and her colleague at night.
A) never are patrolling

B) are never patrol

C) never patrol

56. “Don’t worry Madam, the ambulance be here in just a few minutes.”
A) will

B) would

C) is going

57. The victim by a drug addict.
A) has stabbed

B) was stabbed

C) was been stabbed

58. Jimmy a prison sentence since 2019.
A) has been serving

B) is serving

C) served

59. The police officer told the shocked tourists to go to the police station that their luggage was stolen.
A) for reporting

B) for to report

C) to report

60. “Do you see a doctor?”
A) want

B) must

C) need to

61. “Please try to . We are going to help you find your daughter.”
A) calm down

B) be quiet

C) have patience

62. “The pickpocket bumped into me in the street, but I didn’t realise he’d taken my wallet until he ran 423
A) up

B) over

C) away

63. “Can you remember what the man 2
A) resembled
B) looked like
C) appearance




64. The woman is with a police officer making a about her noisy neighbour.
A) plain

B) complain

C) complaint

65. In 2017, Santé Publique France statistics showed the average alcohol consumption in France had more than
halved, dropping from 26 litres in 1960 for those aged 15 or over to 11.7 litres. This appears to be a growing trend,
with more and more people turning to soft drinks instead of cocktails...

According to the text...

A) Children in France do not drink.

B) French people drink less alcohol today.

C) People are used to drinking a lot of alcohol.

66. The police officers handcuffed the suspect when they arrested him in connection with a robbery.
What phrase is the same in meaning as the underlined word?

A) Restraining a person suspected of a crime.

B) Taking the fingerprints of a suspect.

C) Asking a victim to designate a suspect in an identity parade.

67.1 smoke, but I gave up some years ago.
A) had to

B) would to

C) used to

68. “Let’s have a coffee.”

What is the most logical reply?
A) “As you please.”

B) “Good idea!”

C) “I'm sorry, I don’t have any.”

69. He working as a taxi driver for many years.
A) has been

B) has

C) was be

70. What is the most logical order of steps?

1) They watched his movements for several weeks.

2) During the interview, he admitted his crimes.

3) They arrested the gang leader during a night-time operation.

4) The Border Police received information about a plan to transport drugs into France.
5) They decided to follow the suspected gang leader.

A)4-2-1-5-3

B)4-1-3-5-2

C)4-5-1-3-2

71. A venomous king cobra which escaped from its home in a Swedish zoo has been located inside the building where
its terrarium is located but has not yet been recaptured. The deadly snake escaped via a light fixture in the ceiling of its
glass enclosure. Park guests who were inside the building where the snakes are located were evacuated. The zoo later
assessed that there was no general risk for employees or guests.

According to the text...

A) ... a harmless snake is on the loose.

B) ... after a short lockdown, the zoo is now back in business.

C) ... the snake made its getaway through the top of a terrarium.

72. You get into contact with the police if you witness a crime.
A) would better to

B) should to

C) ought to

73. When the first respondents arrived, they discovered that a pregnant woman had been assaulted in an underground
carpark.

Find the synonym of the underlined phrase.

A) had given birth

B) had been attacked

C) had been tripped up




74. After years , the ringleader was finally sentenced to five years in prison on charges of people smuggling.
A) to avoid arrest

B) spent avoiding arrest

C) of avoided arresting

75. “What have you been up to lately?”” Choose the most appropriate reply.
A) “Thanks for asking, not bad, and you?”

B) “Yeah, I really have to go to bed early for once!”

C) “Nothing special, what about you?”

76. Investigators discovered that the neighbour on the young woman for weeks, so he was taken into custody
for questioning.

A) has spied

B) had been spying

C) would be spying

77. The perpetrator by 5.00pm.
A) will have been processed

B) will have processed

C) is being processed

78. Please read through the statement, you agree with what has been written.
A) then add your signature accordingly

B) then sign at the bottom if

C) then sign out below as

79. Some relatives of reported him missing.
A) him

B) he

C) his

80. The following statements were taken from a witness who described the events that lead to an accident:
1) There was a moment of silence before it smashed into me.

2) I was driving around a roundabout.

3) It suddenly came at me and I had no time fo react.

4) I managed to crawl out.

3) 1 tried to help the other driver but there was nothing I could do.
6) The impact made my car roll over.

7) The car came out of nowhere.

What is the most logical order of steps?
A)3-6-5-1-4-2-7

B)7-3-2-6-5-1-4

C)2-7-3-1-6-4-5

FIN DU QUESTIONNAIRE : ANGLAIS




OCM POUR LES CANDIDATS AYANT CHOISI : ESPAGNOL

(Questions numérotées de 41 a 80)

41. ;, Cudl es el nombre de mujer?”
A) ésa

B) suya

C) esta

42. ; Dénde trabajando? Trabajo en Paris.
A) puedas

B) estés

C) seas

43. ;, Sale ahora? va?
A) Por donde

B) A donde

C) De donde

44. “; Por favor, qué hora es?”

A) “Por desgracia, ando ocupado.”
B) “Son las seis de la tarde.”

C) “Ahora es demasiado tarde.”

45. “Doénde ?” - “Vivo en Burdeos.”
A) Vives

B) Viviras

C) Vivis

46. La victima fue descubierta la estacion de tren.
A) en

B) de

C) por

47. “Por favor me podria el pasaporte.”
A) facilitar
B) rechazar
C) mejorar

48. Llegué a Francia
A) hasta 5 dias

B) después 5 dias
C) hace 5 dias

49. “; Puedes describir al autor del robo?”

A) “Llevaba zapatillas de deporte y una gorra de fiitbol.”

B) “Se trata de un adolescente de treinta afios mas o menos.”
C) “Era alto y delgado con un tatuaje en la cara.”

50. Se prohibe fumar del hospital.
A) dentro

B) contra

C) bajo

51. El sabado pasado, en un parque de Zaragoza, un hombre disparé a un capitan del ejército recientemente jubilado.
Ocurri6 después de un partido de futbol. La policia informé que un hombre de nacionalidad italiana fue arrestado en el
aeropuerto el domingo por la tarde por asesinato.

Segtin el texto...

A) La victima naci6 en Italia.
B) La victima jugaba al futbol.
C) La victima fue matada a tiros.

52. No se di6 cuenta del hombre que andaba tranquilamente ella.
A) debajo de

B) detras de

C) delante de



53. su billete de avion en Marruecos.
A) compri
B) compré
C) compré

54. Los visitantes extranjeros guardar su pasaporte siempre con ellos.

A) tienen de
B) deberian
C) pueden

55. “Lamento mucho llegar tarde.”
¢, Cual es la respuesta mas logica?
A) “Esta bien, causa molestias.”

B) “Es una vergiienza, siéntese.”
C) “No pasa nada, no se preocupe.”

56. He aqui las declaraciones de una mujer que fue atacada.
1) De repente, un hombre aparecio y me empujo.

2) Fui al restaurante con amigos.

3) Me robo el bolso y echo a correr.

4) Abri la puerta de mi coche.

5) Después de la cena, volvi a mi coche.

Ponga las frases en orden :

A)2-5-4-1-3

B)5-2-4-3-1

C)4-1-3-2-5

57. Helena solo trabaja de dia. Ella y su colega de noche.
A) estan patrullando nunca

B) nunca patrullan

C) han nunca patrullado

58. “No se preocupe sefiora, aqui dentro de pocos minutos.”
A) estaré

B) estaria

C) estan

59. Un drogadicto a la victima ayer.
A) haria apuifialado

B) haya apuiialado

C) ha apuifialado

60. Lleva condena de prisioén desde 2019.
A) cumplimos

B) cumplido

C) cumpliendo

61. El policia aconsejo a los turistas victimas que vayan a la comisaria
maletas.

A) para presentar

B) en presentar

C) por presentar

62. “;, ver un médico?”
A) quiere que

B) debe de

C) necesita

63. “Por favor . Vamos a ayudarle a buscar a su hija.”
A) no diga nada

B) tranquilicese

C) espere un poco

una denuncia por el robo de sus




64. “El carterista tropez6 conmigo en la calle, pero no me di cuenta de que me habia robado la cartera antes de que
escapara el parque hacia la avenida opuesta.”

A) desde

B) en

C) por

65. “; Se acuerda de su fisica?
A) aspecto

B) apariencia

C) apacibilidad

66. La mujer esta haciendo una a causa del exceso de ruido de su vecino.
A) declaracion

B) aclaraciéon

C) deposicién

67.En 2017, las estadisticas de Santé Publique France mostraron que el consumo de alcohol habia sido dividido por
dos en Francia, bajando de 26 litros en 1960 para las personas con edad de 15 afios y mas a 11,7 litros en 2010. Esto
representa un fenomeno en plena evolucion, la gente consumiendo mds y mds bebidas sin alcohol en vez de cocktails.

Segun el texto...

A) Los jévenes en Francia no consumen alcohol.

B) La poblacion francesa esta acostumbrada a beber mucho alcohol.

C) Ahora los franceses beben menos alcohol.

68. Los inspectores de la Policia esposaron al imputado cuando le detuvieron por robo con fractura.
Elija cual frase tiene el mismo significado que la palabra subrayada.

A) Tomar las huellas dactilares de un delincuente después de detenerle.

B) Engrilletar a una persona sospechosa de haber cometido un delito.

C) Preguntar a una victima que designe al autor en una rueda de reconocimiento.

69. Antes fumaba todos los dias, pero fumar desde que naci6 mi primer hijo.
A) dejé de

B) quedé en

C) eché a

70. “; Tomemos un café!”

{, Cual es la respuesta mas logica?
A) “Igual vuelvo a casa.”

B) “Perdén, pero no tengo.”

C) “Me apeteceria mucho.”

71. trabajando de taxista desde hace mucho tiempo.
A) rompe

B) deja

C) lleva

72. ;, Cudl es el orden adecuado de las actuaciones?

1) Observaron sus movimientos durante varias semanas.

2) Durante la declaracion, admitieron sus crimenes.

3) Detuvieron al cabecilla de la banda durante una operacion nocturna.

4) El servicio de Extranjeria recibio la informacion de una importacion ilicita de droga en Francia.
5) Decidieron vigilar a la persona sospechosa de ser cabecilla de la red.

N i e

B)4-1-3-5-2

C)4-5-1-3-2

73. Una cobra reina escapd de su jaula situada en un zoo sueco. Fue localizada dentro de un edificio donde se situa
su terrario, pero de momento no la encontraron. Esta serpiente mortal escapd por un accesorio luminoso en el techo
de la urna de vidrio. Evacuaron a los visitantes de la zona donde las serpientes escaparon. Un poco mds tarde, el zoo
evalud que no presentaba mucho riesgo para los empleados y los clientes.

Segun el texto...

A) ... una serpiente totalmente inofensiva est4 en libertad.

B) ... la cobra logro escapar por el tapa de su terrarium.

C) ... después de un corto confinamiento, el zoo ha vuelto a abrir.




74. Cuando llegaron los primeros socorristas, descubrieron que una mujer embarazada habia sido agredida en un
parking subterraneo.

Encuentre un sinénimo de la palabra subrayada.

A) estafada

B) asaltada

C) apuntada

75. Después de , acabaron por condenar al lider a cinco afios de cércel por trafico de drogas.
A) impedir la detencién

B) detener las busquedas

C) conseguir detenerle

76. ¢ Qué me cuentas desde que nos vimos?” Elija la mejor respuesta.
A) “Gracias por preguntar, estoy bastante bien,; y ta?”

B) “Nada especial, ¢, qué hay de ti?”

C) “; Si, tengo que acostarme pronto por una vez!”

77. Los investigadores descubrieron que el vecino a la joven durante muchas semanas, entonces lo detuvieron
para proceder a oirle.

A) estuvo espiando

B) iba a espiar

C) podria espiado

78. al imputado alrededor de las 5 de la tarde.
A) Intentan procesar

B) Van a procesar

C) Estan procesando

79. Por favor lea la declaracidn, esta de acuerdo con lo que est4 escrito.
A)y firme en consecuencia

B) y firme después ya que

C) y firme aqui abajo si

80. familiares interpusieron una denuncia porque desaparecio.
A) Son

B) Suyos

C) Sus

FIN DU QUESTIONNAIRE : ESPAGNOL




QCM POUR LES CANDIDATS AYANT CHOISI : ALLEMAND
(Questions numérotées de 41 a 80)
41. Im Mund ist...
A) die Wange
B) die Lippe
C) die Zunge

42.“ sind Sie geboren? ” “In Miinchen”.
A) Wann

B) Wo

C) Wer

43. Er hat den Ball
A) gewerft

B) geworfen

C) gewirtt

44. Er verkauft Schnitzel, Braten, Wurst...was ist sein Beruf?
A) Bécker

B) Metzger

C) Fischer

45. Wie spit ist es? 8:30
A) halb neun

B) neun Uhr dreiBlig

C) halb acht

46. Es ist meine Geldborse. Sie gehort .
A) mir

B) mich

C) ihr

47. Was ist der Plural von “Schaf”?
A) Schafe

B) Schifer

C) Schiff

48. Wenn Sie getrunken haben, Sie nicht fahren.
A) miissen

B) wollen

C) diirfen

49. Ich mache mir groBe Sorgen: mein Mann ist seit drei Tagen nicht mehr nach Hause gekommen. Er geht auch nicht
ans Telefon!

Der Mann ist:

A) versichert

B) versunken

C) verschwunden

50. Um fit zu bleiben, musst du Sport
A) treiben

B) machen

C) iiben

51. Die Gemeinde heiit Reimlingen, aber was ist die %
A) Postreihe

B) Postnummer

C) Postleitzahl

52. Sie diirfen so etwas nicht tun. Es ist
A) erlaubt

B) verboten

C) zuléssig




53. Ich bin nicht , um das Regal zu erreichen.
A) genug grof3
B) groB genug
C) am groften

54. Das Kind weint. Es ruft seiner Mutter.
A) an

B) nach

C)zu

55. Was wire ein passender Synonym?

“Ein Fahrgast wird im Grenzgebiet kontrolliert: sein Reisepass ist nicht mehr giiltig.”
A) erforderlich

B) verfilscht

C) abgelaufen

56. ich in der Polizeischule war, wollte ich bei der Kriminalpolizei arbeiten .
A) Als

B) Ob

C) Wenn

57. Der Polizist hat eine Person festgenommen. Er sagt zu der Person: “Kommen Sie bitte !
A) weg

B) mit

C) weit

58. Ein Autofahrer soll einen haben: es ist verpflichtend.
A) Fiihrerschein

B) Fahrkarte

C) Waffenschein

59. ,,Wir miissen Sie abtasten, bevor Sie ins Polizeiauto steigen. Arme , bitte.*
A) vor die Brust

B) zusammen

C) auseinander

60. Um welche Straftat handelt es sich?

“Die Scheibe ist eingeschlagen, jemand ist ins Haus eingedrungen, und mehrere Schmuckstiicke fehlen!”
A) Betrug

B) Korperverletzung

C) Einbruch

61. ,,Das Opfer wurde erstochen‘ bedeutet:

A) Es ist mit einer Stichwaffe angegriffen worden

B) Es ist mit Klebeband an einen Stuhl gefesselt worden

C) Es ist mit einem Stoffstiick auf dem Mund erstickt worden

62. Ein Fluggast wird am Grenzkontrollschalter kontrolliert. Bei der Kontrolle des Reisepasses stellt der Polizist fest,
dass offensichtlich das Lichtbild im Reisepass ausgetauscht wurde.

Um welche Straftat handelt es sich?

A) Geldwische

B) Diebstahl

C) Urkundenfilschung

63. Welches Verb passt?

Es gab einen schweren Verkehrsunfall. Die Polizeistreife muss die Strafle , um die Unfallstelle zu sichern.
A) aufmachen

B) abspetren

C) ausschalten

64. Welches Wort passt?

Fahrerin : “Der Mann da hat den Unfall verursacht! Das ist seine Schuld!*
Polizist: ,, Wollen Sie gegen diesen Mann erstatten?

A) Klage

B) Strafe

C) Anzeige




65. In der Nacht ist eine Rollerfahrerin iiberfahren und verletzt worden. Sie hatte keine Lichter. Der Fahrer hat sie
wahrscheinlich

A) tiberholen

B) tibersehen

C) tiberqueren

66. Welches Wort ist ein Synonym des unterstrichenen Wortes?
Sein schlechtes Verhalten wird Konsequenzen haben.

A) Auswirkungen

B) Aufforderungen

C) Ausriickungen

67. Welches Wort ist das Gegenteil der unterstrichenen Worter?

Der Téter schien in der Zeit seiner Vernehmung geistig gesund zu sein.
A) verletzt

B) niichtern

C) verriickt

68. Was bedeutet ,,er war im betrunkenen Zustand“?
A) Seine Kleider rochen nach Alkohol

B) Er war unter Alkoholeinfluss

C) Er hatte Alkohol bei sich

69. Welches Wort ist hier das richtige?

Auf dieser Autobahnportion kommt es immer wieder zu Staus: am besten nehmen Sie diese iiber die
Landstraf3e, da ist der Verkehr ruhiger.

A) Umleitung

B) Ableitung

C) Verleitung

70. Was ist die richtige Reihenfolge in dem ersten Satz?

,, Gestern Nachmittag . Sie war friiher olympische Sprinterin und konnte den Dieb
einholen und fassen.

A) eine 70-jghrige Dame einem jugendlichen Taschendieb ist nachgelaufen

B) eine 70-jdhrige Dame ist nachgelaufen einem jugendlichen Taschendieb

C) ist eine 70-jdhrige Dame einem jugendlichen Taschendieb nachgelaufen

71. Was ist die richtige Reihenfolge in dem ersten Satz?

Eine junge Frau hat sich in den Damentoiletten eingeschlossen und hat herum geschrien. Sie hat die Tiir aufgemacht,
ist aber voll mit Blut gewesen. Auf Ansprache hat sie ihren Kopf immer wieder an die Wand geschlagen. Als der Polizist
nach ihren Personalien fragte, hat sie nur gesungen.

Welches Problem wird hier beschrieben?

A) Eine Frau ist angegriffen worden

B) Es gab einen Unfall in den Toiletten

C) Es ist ein Fall fiir die Psychiatrie

72. Welche Zeitformen passen?

Die Polizei Berlin um Mithilfe bei der Suche nach drei Minnern. Sie , in der Nacht eine Tankstelle
zu tiberfallen. Als die Mitarbeiterin der Tankstelle sich , die Kasse zu dffnen, einer der Tdter mit
seiner Waffe in die Luft.

A) bat — versuchen — weigerte - schiefit

B) hat gebeten — haben versucht — weigert — hatten geschossen

C) bittet — hatten versucht — weigerte — schoss

73. Wie lautet der unterstrichene Satz in der Passivform?
In der vergangenen Nacht haben besorgte Nachbarn die Polizei alarmiert, weil sie Schiisse gehort haben. Die Polizei

fand mehrere Patronenhiilsen auf der Strafe.

A) Mehrere Patronenhiilsen werden bei der Polizei auf der Strale gefunden.
B) Mehrere Patronenhiilsen wurden von der Polizei auf der StraBe gefunden.
C) Mehrere Patronenhiilsen wiirden durch die Polizei auf der StraBe gefunden.




74. Erginzen Sie den Text mit den Adjektiven: welche Reihenfolge ist die richtige?

Bislang Unbekannte brachen heute friih einen Geldautomaten auf. Eine Passantin rief die Polizei, nachdem
sie den Automaten bemerkt hatte. Die Titer entwendeten Geld und sind

A) beschiddigten — aufmerksame — fliichtig - mutmaBlichen

B) aufmerksame — beschadigten - mutmaBlichen — fliichtig

C) fliichtig — mutmaBlichen — fliichtig - beschidigten

75. Bringen Sie den Text in die richtige Reihenfolge!

a. Sie sprachen den Mann an, der behauptete, in dem Viertel zu Wohnen.

b. Ein Zeuge bemerkte ein brennendes Auto und alarmierte die Polizeikriifte.

¢. Da er sich nicht ausweisen konnte, wurde er zur Identitiitsfeststellung mitgenommen.

d. Erst nachdem die Feuerwehr den Brand geloscht hatte, konnte die Polizei mit den Ermittlungen beginnen.
e. Die Einsatzkrdfte wurden da auf einen jungen Mann aufmerksam, der in der Ndhe des Tatortes stand.
A)d—a-b-c-—c¢

B)e-b-d-c—-a

C)b—d-e—a-c

76. Was ist die richtige Reihenfolge dieses Berichts?

a. Der eine Straftdter kann sich ausweisen.

b. Es gelingt den Polizisten, die beiden voneinander zu trennen.

¢. Es kommt am Frankfurter Hauptbahnhof zu einer korperlichen Auseinandersetzung zweier rivalisierender
Fupballfans.

d. Daher entscheiden sich die Polizisten, den zweiten Mann auf die Polizeistation zu bringen, um seine Identitdit
festzustellen.

e. Der andere Mann weigert sich aber, nihere Angaben zu seiner Person zu geben.

A)b-c—-a—-d-e

B)c—-b—a-e—-d

C)d-a-b-e - ¢

77. Ein Drittstaatsangehoriger, der einreisen mchte, muss in der Lage sein, iiber ausreichend finanzielle Mittel zur
Bestreitung zu verfligen.

A) seines Lebensunterhalts

B) seiner Unterhaltung

C) seiner Lebensziele

78. Ergdnzen Sie den Text: Welche Reihenfolge passt?

Die Polizeidrohne ist eine ideale Evginzung zum . Sie ist besonders zur Begleitung von

geeignet. Durch die Bilder aus der Luft kbnnen erkannt werden und somit gezielt gelenkt werden.
A) Veranstaltungen - Menschenstromen - Gefahrenstellen- Hubschrauber

B) Hubschrauber — Veranstaltungen — Gefahrenstellen — Menschenstrome

C) Gefahrenstellen — Menschenstrome — Hubschrauber - Gefahrenstellen

79. Was ist die richtige Reihenfolge in diesem Satz?

,.Ein Dieb wollte fliichten, nachdem o

A) er zwei Tiiten mit Betaubungsmltteln seinem Kompllzen hatte hinabgeworfen.
B) er hatte hinabgeworfen seinem Komplizen zwei Tiiten mit Betdubungsmitteln.
C) er seinem Komplizen zwei Tiiten mit Betdubungsmitteln hinabgeworfen hatte.

80. Bringen Sie die Sétze dieses Zeugenberichts in die logische Reihenfolge.

1. "Sie fliichteten mit seinem PKW."

2. "Es gelang der Streife, den Tiguan zu stoppen.

3. "POM Martin forderte die beiden Mcinner auf, auszusteigen."

4. "In Gdppingen hat ein Hausbesitzer zwei Titer tiberrascht, als sie sein Haus verliefien."
5. "Bei dem PKW handelte es sich um einen weifSen Tiguan."

A)4,1,2,3,5

B)4,5,3,2,1

0)4,1,5,2,3

FIN DU QUESTIONNAIRE : ALLEMAND




